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import tensorflow as tf
from tensorflow.keras.models import Sequential
from tensorflow.keras.layers import Dense, Activation

AT —4 (T 28 % 28{EIDEI=F

1 /EHO -1 — D/;r&(al-ﬁzl-

m = tf.keras.models.Sequential(| 2xA(d relu
tf.keras.layers.Flatten(input_shape=(28, 28, 1)),
tf.keras.layers.Dense(units=64, activation=tf.nn.relu),
tf.keras.layers.Dense(units=10, activation=tf.nn.softmax)

b 2 BEHO=1—0O>#(3 10
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import tensorflow as tf
from tensorflow. keras. models import Sequential
from tensorflow. keras. layers import Dense, Activation

Palebuse Lok

m = tf. keras. models. Sequential ([
tf. keras. layers. Flatten (input_shape=(28, 28, 1)),
tf. keras. layers. Dense (units=64, activation=tf.nn.relu),
tf. keras. layers. Dense (units=10, activation=tf.nn. softmax)

1

print (m. summary ())

Model: “sequential_2”

Layer (type) Output Shape Param %
flatten_2 (Flatten) (None, 784) 0
dense_4 (Dense) (None, 64) 50240
dense_5 (Dense) (None, 10) 650

Total params: 50, 890
Trainable params: 50, 890
Non-trainable params: 0

LV PPN

Za1—SIIRY NID—DODATZ T U haldm
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import tensorflow as tf 7
from tensorflow.keras.models import Sequential
from tensorflow.keras.layers import Dense, Activation

pir ES e
m = tf.keras.models.Sequential([ - @ L7R7 7L o
tf.keras.layers.Flatten(input_shape=(28, 28, 1)), 2 D7 HIHEL

tf.keras.layers.Dense(units=64, activation=tf.nn.relu),
tf.keras.layers.Dense(units=10, activation=tf.nn.softmax)

1) B

m.compile(loss=tf.keras.losses.sparse_categorical_crossentropy,
metrics=['sparse_categorical _crossentropy', 'accuracy’],
optimizer=tf.keras.optimizers.Adam(learning_rate=0.001))

ARAEDEME (IEKEIEY) (X sparse_categorical_crossentropy,
g5E b3 E(E Adam
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m. compi le (loss=tf. keras. |losses. sparse_categorical_crossentropy,
metrics=[ sparse_categorical_crossentropy’ , ' accuracy’ ],
optimizer=tf. keras. optimizers. Adam(learning_rate=0. 001))

EITICKD., AIMRREINDEVND ZEFRN

30



5.

Draduse 4o

AL T ==/, /— =
13-6 FEDREIT, IREEZITD
70IZI/7 A
(B> AT LATFESF R
URL: https://www.kkaneko.jp/a/cs/index.html

31



ARBOT—IN'GDHBEICE. BT -—F& K
MELAT — S [CIRD DTS ENTED e

Iz (£, 70000 MOEHRT —F = #FBTEDHE

S5 6000087 — FEhT—4 & U TEFE

55 100004 — #REETHERA

DEDICERDCENTED

X AT —45 LAREIAT—F (312 THBC LNEE,

60000 2 10000 O KX DTRMNENT,
CE=DHD.

((_/;il&bé — tb\
32



e — 5 DAl

EEEHH

HHHEE

[EB{5 600004
(S5E5—Ef)

410738
12716
64773
37991
06699

1F % 600001
(D5B—E)




—1—-SiRYy NO—O0%BOITOISL K.

HEmT—SDIETE
EPOCHS = 20 / - FHEDET
history = m.fit(ds_train[0], ds_train[1], =% 0[Ol NIk I

epochs=EPOCHS, _
validation_data=(ds_test[0], ds_test[1]),

verbose=1) \ B

MELAT —H%ZIEEIT DT LT,
BREEBITHOND

34



Palebuse Lok

EPOCHS = 20

history = m.fitlds_trainl0], ds_trainl11,
epochs=EPOCHS,
validat ion_data=(ds_test[0], ds_test[11),
verbose=1)

Eg;;b1;;EU[::::::::::::::::::::::::::::::] - Bs Ims/step - loss: 0.2997 - sparse_catesorical_crossentropy: 0.2997 - accuracy: 0.9150 - val_loss: 0.1632 - val_sparse_categorical_crossentropy: 0.1637 - val _accuracy: 0.9574
523;21g;ég[::::::::::::::::::::::::::::::] - 4z Ims/step - loss: 0.1437 - sparse_cateszorical_crossentropy: 0.1437 - accuracy: 0.9576 - val_loss: 0.1315 - val_sparse_categorical_crossentropy: 0.1315 - val _accuracy: 0.9599
523;21g;ég[::::::::::::::::::::::::::::::] - 4z Ims/step - loss: 0.1049 - sparse_catesorical_crossentropy: 0.1049 - accuracy: 0.9636 - val_loss: 0.1018 - val_sparse_catesorical_crossentropy: 0.1018 - val_accuracy: 0.9688
553271g;gﬂ[::::::::::::::::::::::::::::::] - 4s ?ms/step - loss: 0.0844 - sparse_categorical_crossentropy: 0.0844 - accuracy: 0.9747 - val_loss: 0.0945 - val_sparse_categorical_crossentropy: 0.0945 - val_accuracy: 0.9733
E;;;?]g;ég[==============================] - 45 Ims/step - loss: 0.0695 - sparse_catesgorical_crossentropy: 0.069% - accuracy: 0.9794 - val_loss: 0.1018 - val_sparse_catesorical_crossentropy: 0.1018 - val_accuracy: 0.9691
E;?;?]g;ég[::::::::::::::::::::::::::::::] - ds Ims/step - loss: 0.0589 - sparse_catesorical_crossentropy: 0.0889 - accuracy: 0.9827 - val_loss: 0.1008 - val_sparse_categorical_crossentropy: 0.1008 - val _accuracy: 0.9715
Eg$gb1;;gﬂ[::::::::::::::::::::::::::::::] - 45 Zms/step - loss: 0.0500 - sparse_cateszorical_crossentropy: 0.0500 - accuracy: 0.9847 - wval_loss: 0.0918 - val_sparse_catezorical_crossentropy: 0.0918 - val_accuracy: 0.9727
Eg;;¢12;%0[==============================] - 45 Zms/step - loss: 0.0433 - sparse_catesgorical_crossentropy: 0.0433 - accuracy: 0.9867 - val_loss: 0.0979 - val_sparse_catesorical_crossentropy: 0.0979 - val_accuracy: 0.9717
Egigblg;éo[==============================] - ds ?ms/step - loss: 0.0373 - sparse_categorical_crossentropy: 0.0373 - accuracy: 0.9889 - val_loss: 0.0904 - val_sparse_categorical_crossentropy: 0.0904 - val_accuracy: 0.9747
Eg$gb1;ggzg::::::::::::::::::::::::::::::] - 4z Ims/step - loss: 0.0329 - sparse_catesorical_crossentropy: 0.0829 - accuracy: 0.9901 - wval_loss: 0.1027 - val_sparse_catesorical_crossentropy: 0.1027 - val_accuracy: 0.9708
$g$§b1;;gzg::::::::::::::::::::::::::::::] - 4z Ims/step - loss: 0.0294 - sparse_catesorical_crossentropy: 0.0294 - accuracy: 0.9908 - wval_loss: 0.0924 - val_sparse_catezorical_crossentropy: 0.0924 - val_accuracy: 0.9756
$g$§b1;§g2?==============================] - 45 Zms/step - loss: 0.0251 - sparse_cateszorical_crossentropy: 0.0251 - accuracy: 0.9921 - wval_loss: 0.1053 - val_sparse_catezorical_crossentropy: 0.1053 - val_accuracy: 0.9724
Eg;;b1;§g2?= - 45 Zms/step - loss: 0.0223 - sparse_catesgorical_crossentropy: 0.0223 - accuracy: 0.9931 - val_loss: 0.0979 - val_sparse_catesorical_crossentropy: 0.0979 - val_accuracy: 0.9733
523;21;égzﬁ:::::::::::::::::::::::::::::: - 4z Ims/step - loss: 0.0199 - sparse_catesorical_crossentropy: 0.0199 - accuracy: 0.9947 - val_loss: 0.0968 - val_sparse_catesorical_crossentropy: 0.0968 - val_accuracy: 0.9747

Epoch 15720
1875/1875 [=
Epoch 16/20

o
o

L9944 - val_loss:

o=

- 4= Ims/step - loss: 0.0178 - sparse_catesorical_crossentropy: 0.0178 - accuracy: L1180 - wal_sparse_catezorical _crossentropy: 01180 - val _accuracy: 0.9701

187571875 [====s=ssssssssoooooooooooooooc] - s Imsdstep - loss: 0.0157 - sparse_catesorical_crossentropy: 0.0157 - accuracy: 0.9952 - val_loss: 0.1082 - val_sparse_catesorical_crossentropy: 01082 - val_accuracy: 0.9739
E;;;?];;g2€: - 45 Ims/step - loss: 0.0152 - sparse_catesorical_crossentropy: 0.01582 - accuracy: 0.9953 - val_loss: 0.1077 - val_sparse_categorical_crossentropy: 0.1077 - val _accuracy: 0.9735
$g$;C1;gg2€::::::::::::::::::::::::::::::] - 4s Imsi/step - loss: 0.0120 - sparse_categorical_crossentropy: 0.0120 - accuracy: 0.9965 - val_loss: 0.1193 - val_sparse_categorical_crossentropy: 0.1193 - val _accuracy: 0.9720
523;21;gg2?::::::::::::::::::::::::::::::] - 4z Ims/step - loss: 0.0120 - sparse_catesorical_crossentropy: 0.0120 - accuracy: 0.9963 - val_loss: 0.1201 - val_sparse_catesorical_crossentropy: 0.1201 - val_accuracy: 0.974
E§$;?1gggzg==============================] - d4g ?ms/step - loss: 0.0104 - sparse_categorical_crossentropy: 0.0104 - accuracy: 0.9971 - val_loss: 0.1095 - val_sparse_categorical_crossentropy: 0.1085 - val_accuracy: 0.8748

—a—JI)xy N7 DOFE, ir
20D EHICHHEY, FEHF20EBEY RSN TLS,
2RO NCRITEER. BYELPEOR, BEEIR 35



o

ODE

AN

5 DRI

m.get_weights()[2]

RITHGAR

° m.get_weights(J[2]

C»

arrav([[-

L-

L-

L

1

1
5.34807503e-01
-5, 1
[ 2. 1
-8. Z
.61067390e-01
1

1

1

1

Z

1

-2

.05946940e-0
.01313898e-0
.8B083782e-0
.41050875e-01,
LA1472265e-02],
L13324281e-0

1.01239467e+00,
7.45151564e-02,
-1.13867247e+00,
3.08223069e-011
9.73109961e-01,
2.45247036e-01,
-4,
-1
1
Z
-1
3
Z
-2

12931621e-01,

82633331e+001,
5433464 1e+00,
.96245068e-01,
L 13382103e+00,
.49798262e-01]
.19795348e-0
2405897 1e-0

]

81060231e-0
05441475e-0
2157807 7e-0

1,

.47466946e-01,
.85807520e-01, 5.
.49037850e-01,

.54716599e-01,
.311389123e-01,
.27608228e-01,

.33413301e-01,
.39144379e-01,
.67599517e-01,

L93170774e-01,
.40130982e-01,
.34BB7897e-01,

.93122208e-01,
.10343146e-01,
. 18575660e-02,

.22882804e-03,
.89539528e-01,
.38579014e-02,

J17244375e-01,

-8.

-5,

2.
b.
-4,

-2,
3.
-8.

-1

-6.

-1

2.
-2,

-2,

09835494e-02,
B8768084e-01,
76055467e-01,

T6776433e-01,
26507080e-01,
87542659e-01,

16112331e-01,
52841973e-01,
9410686be-01,

.23119526e-01,
bB837881e-01,
.04529119e+00,

BB112298e-01,
91442454e-01,
-1.49935138e+00,

. 18866838e-01,
.60B85993e-02,
.b6438136e-01,

31900814e-01,
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Sparse Categorical Crossentropy
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A7

2 H DB AN

EFDOARCOWTHIEZITOITOT S A
m.predict( ds_test[0] )

e :I:
EiTrEER
print(m.predict (ds_test[01))

4=
L05257840e-22 1.00000000e+00 ... 1.98069462e-18 E_% 0) 1 O 'ﬂEOD

[[1.36119690e-16 4
3.22409127e-10 §.19054142¢-18] _ 3 =3
[1.00000000e+00 0.00000000e+00 1.14557860e-25 ... 2.54518175¢-19 —a—0O>oiE |$R
3.64565147e-19 4.89561556e-24] Sk L,
[1.27674933¢-20 1.80608327e-19 3.47646780e-16 ... 8.36853416e-17 (ljj O)@'fg%@*ﬁyyﬁ)
2.97038632¢-14 1.05294404e-07] = o T g —
> /ﬁ |$)RGDH§EIEJ(/\
[2.34036176e-11 2.65855048e-19 8.73036257e-08 ... 2.96257529e-16 — ~ A\
9.99999881e-01 5.48949601e-12] —_1—04 /b\ﬁiﬁﬁ".ﬁ%
[1.00000000e+00 1.06714619e-21 1.21512200e-09 ... 8.56583244e-15
7.37025681e-21 3.40695392¢-15]
[5.88137927e-19 1.16241944e-18 4.45531422¢-17 ... 3.85180054e-16
2.41860948-10 §.87167495e-151]
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